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]ntroduction to 132 NN 1IN —van g

The Torah prohibits slaughtering an animal and its offspring on the same day; this prohibition only applies to mmminzand not nn. Our chapter deals
with the details of this 70°N; along the way, we will analyze the status of a »19— a hybrid of AvAL/PNVis-a-vis 123 NKY 1NN among other M5
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R mwn: the MR applies everywhere (even 5"1n) at all times (even when there is no n”n’1) and with ow1pm and P5n
a  Applications (in various sequences): »w1p PN in and out of My
i Both p5in—outside: 1+ is fine, 2" is 2R — may be eaten, he gets man
ii  Both orw7p - outside: 1% is yin 0w > n13; neither may be offered and both generate pYin (1t — yin »01NY; 274 — 2"R)
iii  Both p5ininside: neither may be offered; 2" generates man for 28
iv  Both owipinside: 1% is valid; 2" generates mian for 28 and may not be brought
2 mwn: continuation of examples: using mixture of DWTpP/PYIN or W1I9/YIN; sequence is critical
a  Applications: mixing P9 and D'wTp in one location
i pHnthen oowipoutside: 1%t is fine; 2nd carries man for 21”8
ii  pwipthen poinoutisde: 1% carries N3 for yin »0INW and is 5109; 27 is valid but generates man for 28
iii  phnthen pwipinside: both are invalid; 2n! generates moan for 28
iv  pwipthen poninside: 1+ is fine; 27! generates man for 2R and is 10
b Applications: mixing inside/outside with a single type of animal (191 OR Dw1p)
i ponoutside and then inside: 1% is fine; 2nd generates man for 2"k and is 909
ii  pwipoutside and then inside: 1 generates n13 for pin 01w, both invalid and both generate man
iii  phininside and outside: 1% is invalid; 24 generates man for 2% but is 1w2
iv  pwipinside and outside: 1% is fine; 2" is invalid and generates man for 2”8
Analysis: source for 12 n®1 MR applying to both D>w1p and YN
a  pwip context of MOR (v. 2) after v. 1 (DwTp)
i However: mv (beginning of v. 2) “blocks” it off from being exclusively mwTp; 1191 connects to include nwp
ii ~ Challenge: mR%) (crossbred animals) are %102 as 0w — perhaps 2”& doesn’t obtain?
iii ~ Further: the use of nw (v. 2) should indicate, per 827, that &Y are excluded
1 However: Xn»12 rules that 2R applies to oR53
iv  Answer: W (v. 2) extends to include n'x%>
1 Challenge: & needed to isolate — that only need to slaughter ox OR lamb and its young to be 1n
2 Answer: 11 (v. 2) already isolates (only one offspring needed)
(a) Challenge: 111 alone would mislead us — must slaughter 1 ,nw and one of their offspring
(b) Answer: that is inferred from 1mR — only one parent needed
(i) Note: this is only valid for 1129, who don’t “need” ym& for another nw17T; but 77110 does (see below)
(if) Answer: 1N doesn’t require a word to isolate (1MR is “extra” and available)
1. Per: 1mv *v’s approach to v. 3 —(contra mwr» 1) 1ary R implies either both or either
Background: 1’10 vs. 13127 — whether 1"R applies to father and young (n°11n) or only mother and young (1317)
a 227 we might have inferred from jpn mb5w that it only applies to mother, but that is not a good model, as 1pn M5 only
applies to “encountered” nests, not one owned by the subject; 2”& applies in all cases;
i However: the use of the singular ym& indicates only one parent
ii ~ And: once we understand that only one parent is involved, we infer from jpn mbw that it only applies to mother
1 However: if not convincing (\mR is masculine), we read 13; i.e. the parent that the child is more attached to
b 72m ymR gives us father; 111 gives us mother
¢ Final ruling (5810®): per 1 — and YRV is consistent as he notes that NT1? 7’s opinion (T:n 0'XY1) that mules may be
mated with each other as long as they all have the same type of mother (donkey or horse) —isn’t accepted by 1127, who
we read as 1’110, are concerned with the identity of the father and allow all mules to mate
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tangential question: is NT 1 clear that the father’s identity is of no consequence or is he doubtful?
i Split the difference: if he is sure, then a mule w/donkey mother could mate with a full donkey
ii  Suggested solution: 7:n WRY2 — “all born of a horse may mate with each other”
1 Cannot mean: mating two, each of which has donkey father and horse mother — too obvious
(a) Must mean: donkey/mare with full horse (= he is clear that arn »715 pYWIN PR)
(b) Rejection: may refer to two with parallel parentage — against possibility that they cannot mate with
anyone, as their “other side” mixes in — "np that they may
iii ~ Suggested solution: N '7 rules that if a mule is in heat, we cannot bring a horse or mule, rather her “own kind”
1 Implication: nmn 7 is not clear on the impact of the father — else we could mate it with its’ mother’s kind
2 Rejection: in this case, perhaps we don’t know what the mother is
(a) Challenge: the one acceptable solution is “nrn” — so we know what the mother is
(b) Rejection: read ®n»11 that we cannot bring a horse-type or donkey-type because we don’t know nyn
(i) Challenge: why not check what type she is, based on her voice (aR) or ear/tail (9™)?
1. Answer: could be mute and amputee (no ears or tail)
iv  Final resolution: 37 712 X110 ' stated that all agree (i.e. even nT ") that the mule may not be mated with its
mother’s type = nmin "1 is doubtful as to father’s impact
v Coda: Rar 1 told his servant to divide up mules by their physical characteristics (tail, ears etc.) and allow them to
mate within the sub-groups
1 Implication: he isn’t concerned with father’s impact (arn Y9 pwwIN PR)
(a) And: o are Rn»1RT (and sufficient to determine 9N MOR in an 77N NOR — NP1IN)
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